
 Sol I let us define r v Xi corresponding to the
ith person as follows

Xi 1 if the person selects his her
own coat

indicator r v L O ofw I mark

distributionP Xi 1 In each assignment is
ofindicator r v equally likely

P Xi O t
t 1 mask

I identifying X
We want to find El X where internsofindicators

X X Xz t Xn I mark

so that X is the number of people whogot their
coats back

By linearity we have

EX TEX Xn EYE Xi I mark

using linearity



Also El Xi let ox i tn L

or you can identify Xi Best f
Eti tn

i Efx n In 1 I mark
answers

Soft False 2marks
claimingFalse

give a counter example to disprove
PC Xt Y 12 X Y 1 0 X 4 12

X Y D
P1 4 12

I Favourableoutcome

6,6
Pl x 4 1

56
favourable outcomes3 marks

explanation 2,1 13,2 14,3 15,4
6,5

i P I Xt Y 12 X Y 1 4 P I Xt Y 127 P X Y

Y and X Y are not independent

birdwing the total is 12 tells us the difference is 0 so

r v s provide information about eachother


